2019 KFEAREFHF A GHH) HE

— HAE (BN g, L5 N, 55 )
1. e%; 2. 2edx BY 2eAx;

3. y—l=—%(x—1)5iy=—%x+%ﬁx+2y—3=0; 4. —9900cos];

5. VM >0, 36>0, 8% x,—5<x<x, i, 1HAE f(x)>M.

T IR CRE/NELL gy, ks NEL B9 5 )

1. A 2.C; 3.B; 4.C; 5.D

t3
. . w +t+1 [T
= (49 BEE = £ BBEOTR ] Bz, & ¥l
y:e’+t2 de dr
dy
dy 4 e +2t
B —=
dr A 241
di
d(dy) (e +2)e +1)-(e +2c)21)
&y _delde) _ (¢ +1) _el(P-2r+1)-27 42
d? dx t*+1 (t2+1)3

COSX 1
1 _ VS
V0. (4 47) THEARR hmy (1 n(l+ 1) xj

xcosx —In(1+ x)
2

=1lim =lim
=0 xIn(1+x) x>0 X

@ i cosx 1 . xcosx—In(1+x)
TS In(l+x) x



) 1
COSX—)CSIHX—T
=lim T X
x—0 2x

COSXx——— ) —sinx+72
= lim 1+X i Y i (I+x)° 4_1
x—=0 2x x>0 2 x—0 2 2

1

T (44 iﬁm&f@):{“ x>08 x21,

e, x=1

(1) RERHL f(x) FEIX 8] (0,+ 00) NIFHL £'(x)

(2) P8 f'(x) FEIX [8] (0,4 00) N HIIELEAE .

it (1) ¥x>0Hx=10, H

dx

x—1

1
! ! I —(x—l)—lnx i

' _i E:Edln_ngx :;x—l—xlnx

f(X)_dx£x ] § [ j (x—l)2 * xx—l)2

\_£|X=lﬁﬁ‘1 ﬁ

x—1 x_l

l—lnx—xl In x S .
=e-l-lim— X —¢.lim———=e¢-lim—X =—=
ol 2(x—1) ol 2(x—1) D

(2) BN

L x—1-xlnx e
lim f'(x) = lima 1~ 5% =2 = )
! ol x(x—l) 2

FTCL £/ () 75 x = VALIESE, £/ (x) 1E (0, + 00) PN IESE.



3(1+a )

. (397) 110<a1<\/_
3+a,

, UEBAES {a, | S, FRITE

IR lima, .

Uk ﬂ%i&%ﬂﬁ’\]?ﬁﬂfo<an<\/§, n=12,---. ¥n=1K, ﬁ0<al<\/§, R
n=kit, H0<a, <3, WGn=k+1i, H
0<ak+l=3(1+“k)=(3_*/§xak_*/§)+\/§<\/§

3+a, 3+a,

B AR 0<a, <3, n=12,---, FTLA%H] (o, } 6 5.
X
3+a,)  3-a’

—da

n ~>0, n=12,
3+a, 3+a

a

n+l _an =

Bt ASO {a, | SRR N, iRl E e B, B {a, ISR

Wa=lima, , Xfa,, —3(3“_61 )EM‘}}]ZE{ a—3(31+a)
+ +a

n—0

, i3 a =13 (HUflS

%), #Wilima, =+/3.

£, (4 5) WEE f(x) EHEXIE0,1] FigEs, FEIFXE0,1)NTE, H
£(0)=0, F(1)=1, iEMH:

(1) FEE,D, 13 f(E)=1-¢&;

(2) FEBNAFE R ,m, €O,D, f£13 (1) f'(n,)=1.

E (D #gx)=f(x)+x—1, W g(x)EXIE[0,1] FiEs:, H
2(0)= f(0)+0-1=-1<0, g()= f()+1-1=1>0
HESAEEH, FHEE0,1), 15

g)=f(E)+s-1=0



B f(§)=1-¢.

(3 3 f(x) 73 0 £E X 8 [0, £1 A [, 1] b RE AT b sk B3 H o B e 32, A7 £E
me(0,8),n, €1, 7

f©=f(0) _1-¢

Sy = £20 :
o JD-f(E) _ ¢
Sy = I—¢ —1_5

T

! ! :ﬁ.izl_
S ) f(ny) F 1oz



